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1 = goo E 250,000
2 = goo E 75,000
T3 = goo E 36,800
T3 = goo E 36,800
T3 = goo E 36,800
T3 = goo E 36,800
T3 = goo E 36,800
T8 = goo E 27,500
T8 = goo E 27,500
T10 = gogo E 23,500
T10 = goo E 23,500
T10 = g E 23,500
T10 = goo E 23,500
T10 = goo E 23,500
T10 = goo E 23,500
T16 = goo E 18,600
T16 = goo E 18,600
T16 = goo E 18,600
T16 = goo E 18,600
T16 = goo E 18,600
T21 = goo E 15,750
T21 = goo E 15,750
T21 = goo E 15,750
T21 = goo E 15,750
T21 = goo E 15,750
T26 = goo E 13,216
T26 = goo E 13,216
T26 = goo E 13,216
T26 = goo E 13,216
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12,000
12,000
12,000
12,000
12,000
6,820
6,820
6,820
6,820
6,820
6,820
6,820
6,820
6,820

6,820
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